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using System;

class Average

{

static void Main()

{
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float totalMark;
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float average = totalMark / totalCredit;

Console WriteLine(“Total mark: ” + totalMark);

Console WriteLine(“Total credit: ” + totalCredit);

Console WriteLine(“Average: ” + average);

Console ReadKey();
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inta 5;
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Console. WriteLine(a);
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Which of the following is the correct way to initialize the variables i and j to a

value 10 each?

A) inti 10; B) inti 10,j 10;
intj 10;

C) inti,j; D) inti,j 10;
i 10:j 10;

E) inti j 10;
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using System ;
class Expression

{

static void Main()

{
int weight  700;
Console. WriteLine(weight > 500); // True
char gender 'm’;
Console. WriteLine(gender ~ 'f'); // False
doublecolorWaveLength 1.630;
Console. WriteLine(colorWaveLength> 1.621); // True
Console.WriteLine(B'  'A" 1);// True
Console.ReadKey();
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if (mark < 10)
Console. WriteLine("Failed");
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if (password ~ "admin123")

Console. WriteLine("Welcome "); false

password == "admin123"

¢ true

/ "welcome"osr)&s\ /
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classLogin

{

staticvoid Main()
{
string password;
Console. Write("Enter password: ");
password Console.ReadLine();
if (password  "admin123")
Console. WriteLine("Welcome");
Console. WriteLine("'Press any key to continue. ..");

Console.ReadKey();

3505 70 g 4l =Y aal

VY



i sB635,5 3 4 5 aule 1) 5 den 5 i 5 VS ama o 1, £ aali, )
S a3l b

g"-élw-‘ sae 33 o 511 By s S i 33 Sl 2l > o Py Jlw Y
S a8

k53 53 5038 Cibys S S sy s slael Tl )8 plaw] g, b [""‘..J}Q‘
olsea |y sse oyl a0 85005 1y Sl o3 54 1 3 secondNumber  firstNumber
ol ol o8 23 )l biggerNumber o R A PO oS 0o By s
3 r\’.ﬁ\ 463k s S5 olowed sas ol S oS ot Anln (Gam sae b 1 (1095 (5 3) piie
206l 5e 1y 233308 5 S i |y 3 gm ad ) 0o 5 Gl 3V 3 g0 30 Sl o
S 35 sl 5o s a1 1y 3 e biggerNumber juiaa ;s ol j cpl 4 - S 5 50 555
Rz w3y 5 prils JLan 5o sus 50 ) G S| -w3 0 s | biggerNumber 5 3 g yo
S sl |) FY Ol i S ol ol 5 o r‘i))ﬁ‘ b s cmed 51w 5k e o 1,

i

biggerNumber = firstNumber

{

false

secondNumber > firstNumber

¢ true

biggerNumber = secondNumber

<
<

\/
338 33 o 31 05008 099 5w =FY O Jlo i
WY



class FindMaximum

{

static void Main()

{
string input;

int firstNumber , secondNumber ;

Console. Write("Enter a number: ");
input Console.ReadLine(); Jsl sae il

firstNumber int.Parse(input);

Console. Write("Enter another number: ");
input Console.ReadLine(); p33 238 S8l

secondNumber int.Parse(input);

int biggerNumber firstNumber;
if (secondNumber>firstNumber)
biggerNumber secondNumber;

Console. WriteLine("The maximum numberis: " biggerNumber);

Console. WriteLine("'Press any key to continue. ..");

Console.ReadKey();
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int remainder numberZZ;
if (remainder  0)
Console. WriteLine(number " is Even.");
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int remainder = number X 2;

if (cemainder = @)

Console.WriteLine{number+™ is Ewven”);

Conscle.ReadKey();
}

}
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31 Cannot implicitly convert type int’ to "bool
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Remainder=number /.2
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int remainder number /. 2;
if (remainder  0)

Console. WriteLine(number "is Even');
if (remainder ! 0)

.Console. WriteLine(number "is Odd");
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int remainder number /. 2;
if (remainder  0)
Console. WriteLine(number 'is Even');
else
Console. WriteLine(number " is Odd");
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class Salary

{

static void Main()

{
long income, tax, insurance,net;
string input;
Console. Write ("Enter income: ");
input Console.ReadLine();
income long.Parse(input);
insurance income*0.07 ;
if (income > 10000000)

{
tax (income 10000000)*%0.05;

'

Console.WriteLine('Tax " tax);

¥
else
tax O;
Console. WriteLine("Insurance " insurance);
net income insurance tax;

Console. WriteLine("'Net

" net);

Console. WriteLine("Press any key to continue. ..");
Console.ReadKey();
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class CheckNumbers

{

static void Main()

{
string input;

int number;

Console. Write("Enter a number: ");
input Console.ReadLine();

number int.Parse(input);

intfirstDigit number 710,
if ((firstDigit ~ 0) (firstDigit  35))

Console.WriteLine(''The number is a multiple of 5 )

Console. WriteLine("Press any key to continue. ..");

Console.ReadKey();
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class Login

static void Main()

{

string userName, password,

Console Write(“Enter username: “);

userName = Console ReadLine();

Console Write(“Enter password: “);

password = Console ReadLine();

if (userName == “admin”) && (password == “admin123"))
Console WriteLine(“Welcome Admin ”);
else

Console WriteLine(“Invalid username or password! ");

Console WriteLine(“Press any key to continue ~ ”);

Console ReadKey();
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class CheckSeason

{

static void Main(string[] args)
{
string input;
int number;
Console Write("Enter a number: ");
input = Console ReadLine();

number = int Parse(input);

if (number == V)

Console WriteLine("Spring");
else if (number == Y)

Console WriteLine("'Summer");
else if (number == Y)

Console WriteLine( Fall");
else if (number == ¥)

Console WriteLine("Winter");
else

Console WriteLine("Invalid Number! ");

Console WriteLine("Press any key to continue  ");

Console ReadKey();
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break;
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break;
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break;
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class CheckSeason

{

static void Main()
{
string input;
Console. Write("Enter a number: ");
input Console.ReadLine();
switch (input)
{
case '1":
Console. WriteLine(''Spring");
break;
case 2"
Console. WriteLine("Summer");
break;
case "3":
Console. WriteLine("Fall";
break;
case "4'":
Console. WriteLine("Winter");
break;
default:
Console. WriteLine("Tnvalid Number!");
break;
}
Console. WriteLine("Press any key to continue. . .");
Console.ReadKey();
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class SwitchDemo

{

static void Main(string[] args)
{
string userName, password;
Console. Write("Enter username: ");
userName Console.ReadLine();
Console. Write("Enter password: ");
password Console.ReadLine();
switch (userName)
{
case"admin":
if (password ~ "admin123")
Console. WriteLine("Welcome Manager.");
else
Console. WriteLine('Wrong password!");
break;
case''accountant':
if (password ~ "acc123")
Console. WriteLine("Welcome accountant.");
else

Console. WriteLine("Wrong password!");
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break;
case 'sales":
if (password  "sales123")
Console. WriteLine("'Welcome Manager!");
else
Console. WriteLine('Wrong password!");
break;
default:
Console. WriteLine("Tnvalid username!");
break;
H
Console. WriteLine("Press any key to continue. ..");

Console.ReadKey();
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Console. Write("Do you enjoy C# ? (yes/no/maybe): ');
string input  Console.ReadLine();
switch (input)
{
n "
case yes :
case' 'maybe'":
Console. WriteLine("Great!");
break;
n n
case no :
Console. WriteLine("Too bad!");
break;

break & g switch ) yzws 3 IS —F A asl  anka

s il ol oo b“i@};-b:ie |y sue S & s 5 140l Y

il ol 51635 0l Jad 6l ol 5 a8 Sl o1y 5 gl (2105 00 oS deans s sTaals , F

ol il Glas5,5 151 4 S dam i e |, FVY 5 PV ojle a4 0
S | o]

ot g ohad s SIS 51 4 (5 S S FNF e 1l o s )08 1 F
By bl s (25 >

5305 5 FLNY i ead e SIS 51 S8 6 Ko adS 8 STl i e Y
Sads o0 rlqd\switch)};wg NEEPY) ‘5]«..:.454.?‘:;; Ll 5 s

Console. WriteLine("I’m sorry, | don’t understand that!");
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if (number > 10) (number < 0))
Console. WriteLine("The number should between zero to ten.");
else

Console. WriteLine("Good job!");
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if (number < 100)

number
else
number 1;
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o alS | iy g sl @bghﬁw;‘wm‘b 28 g IS 0¥
)
if (score > 0)
if (score < 100)
Console. WriteLine("Score " score);
o)
if (choice 1)
Console.Clear();
if (choice  2)
Console.Clear();
Console. WriteLine('Stating. ..");
e bt b g 1 eolizal b adl asls 13 S, S cchar a5 S1-0
1,05 )13 (B, 1L 5 S S Gy o555 05 2) GBS 5t e S s 1o S 08
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)
if (number > 0)
if (number < 10)
failed ;
else
Console. WriteLine(number);
(&

if (number > 0)

{
if (number < 10)
failed
}
else

Console. WriteLine(number);
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